N MF R ER S ERE IR AT

LAUMAS PR 5 A% B ds PR AR TF-FSB-500kg

=
H

5
TF-FSB-500kg
AL
1, REEMHEE AISI 304 REEREELRER, LAAMESIERAFE(L
2, ANEEHNZET,
3, ERAERE 500 kg
4, B985 5K R AISI 304 RNEBTNFIIRAR .
5, HRAOLR, SEFE AISI 304 BN, STIEIREMIRISERIAME,
6 BERE. SRR, LIBamnfiEdiEHiiA,

MEIERER | IR | R3Ezt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

Y SR IR A

T

EREAIRERAE, 8 (*) DIURMIRERREE Th. *&kE, Bl
BEREERER, B EERENGN, ARRE MEER
BIRS, MREHENRSIE, WR—RNREEERL, EEE
IZERIVIIEANR R, BURESE.

PR

NET WEIGHT OF
MAX STATIC LOAD kg FOR LOAD CELLS MOUNTING KIT (kg) CODE

Load ceill not included.

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

N MF R ER S ERE IR AT

ANTIV40
(M12x1.75)

. e .
D
M load cell I
BLocrml
AU
_—
PIATF
PIATF BLOCT
24 @13
cI I S
P '—'—'—'—'—'—'—{I}* % o (_5
e 24 M12x1.75 '[ -

80
P
T
I
I
I
I
I
I
¢
1
1
I;

10, 30
B
=

&~ | |
1 i
—_— ]
o | | _ol_2s |9L
| 150 |
ANTIV40 MOUNTING AND PLACING STRUCTURE
M12x1.75

@30
1

GGG

MEIERER | IR | R3Ezt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn



http://www.sensortop.cn/

YR LR R R AT

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

N MF R ER S ERE IR AT

PIATFC

70

M &
L 2% M8x1.25
~
Fan o)
" L =4
E 4% B9
o D—-© &
N
b o 115 [10]__
S| |
| 135 |

v
BLOCTEC
60
4x 813 26
B 200 : ous |
w W ,‘r /
" oy b I I Y 1 Fl
o [OO Y J\ U ¢
] gl 2 (] W —

MOUNTING AND PLACING STRUCTURE

STRUCTURE ! STRUCTURE

POSSIBLE UPPER PLATE POSITIONS
POSSIBLE PPV UPER PLATE POSITIONS

o O
o [e) [+]
oo =) | kel [
[*) LJ o

o 0O

__6‘\ oD
[ 0 | I AN
& | - | L1 |
3 15 | 90 | 15
__‘10|_18_|_1_2_‘ 120
|
@ M6x1_~
625
14
i PIEDINOSB2M10 PIEDINO SB2M8
M10x1.50 M&x1.25
2
o~ o™
(=21 o
i R
260 260

MEIERER | IR | R3Ezt{Y

Tel:0755-23002259 sales@sensortop.cn

www.sensortop.cn


http://www.sensortop.cn/

	称重传感器丨控制仪表丨应变测试仪

